?%g%g

Crim 2247H 5" MD
(Scale: 5":100"

Company: XTO
Well: Crim 2247H

Field: Marcellus

Well ID: 47-4902114

Job Number: DDAP-100159

State: WV
County: Marion
Country: USA

#1 MD:6394.0 TVD:6387.9 1:6.4 A:82.2 VS:39.5

Location: White Hall Elev KB: 1256
Operator 1: Blake Holdridge Elev DF: 20
Operator 2: Justin Blakeney Elev GL: 1236’
Comment 1:
Comment 2:
Comment 3:
Comment 4:
Comment 5:
Hole Data Casing Record
Size From To Size From To
12 1/4" o' 2923’ 13 5/8' o' 11318
8 3/4" 2923’ 11318 9 5/8' 2923’ 11318
Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5
Tool SIN 140 196 196 196 176
Cal Factor 4.06 4.06 4.06 4.06 4.06
Gamma Offset 60' 56' 60’ 60’ 60’
Start Depth 6397 6460’ 7052’ 7305’ 7561'
Start Date 9/13/10 9/13/10 9/15/10 9/16/10 9/17/10
Start Time 6:00 19:00 4:00 2:00 2:00
End Depth 6460’ 7052’ 7305’ 7561' 11318
End Date 9/13/10 9/14/10 9/16/10 9/16/10 9/21/10
End Time 19:00 21:00 1:00 23:00 01:00
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